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Number

Language — Part A — FRENCH — Paper II

( Grammar and Translétion )

Time Allowe_d : 2 3 Hours | | . [ Maximum Marks : 100 ¢

I.  Choisissez la meilleure réponse : 10
L Cette maison est .................. que ies autres. ( meilleure / mieux)
2. 1 Connaissez-vous. .................. bons -mﬁsiciens 72 - - (des’/ dé)
3. Cestla chaise .. .................... mon chien dort i:ranquillément. ( d_ont / oﬁ}
4, Marie apprend sa lecon ; Robert_ apprend seveseeses :

L

( la sienne / le sien)

W dans une semaine. ( arrive / arrivera )

D

6. Rani et Helene sont .................. i : _ ( attentives / attentifs )
7. Lamere de Sanjay €st ..........eveeeeeeecenss au supermarcheé. ( alle / allee)
8. Clesttoi qui ..ccoceieeenienrennen malade. (est/ es)
9. Il n'a pas beaucoup ........cciivveneennnes amis. ' (d’/des)
LO. e PEre VA .couesiimsivasaisinn en voyage. (pérti / partir)

Ecrivez le contraire des moi:s : ; 5

avancer ; proper ; souvent; haut; jeune.
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III. Grammaire ( Exercices du livre ) :

A) Mettez au pluriel : ' | Jer. -
L’oiseéu vole avec seé ailes.
L'etudiant n'écoute pas son professeur.
1y a un petit cahier sur la table.

Ton genou est sale.

e I e

Le vitrail est rouge et bleu.
B) Formez les adverba_; - i ' ' 5

long ; rapide; absolu ; heureux; attentif.

C) Completez les phrases suivantes avec des pronoms relatifs : 5
1. Les grands-parents de Pierre ......... Blew habitent Montréal recevront
une lettre de Pierre.
e Ol ioeesiroenenees on voit la statue est Henrl IV.
3. Bientot la neige couvrira la montagne ..........cccceueenes personne ne |
viendra se promener. '
4. J'admirele lac................ e de hautes niontégnes entourent.
5. Voicilebus .....c.cooevvurenrenn. emmene les touristes.
D) Faites I'accord des adjectifs : : 5
1. En France les fromages sont ( nombreux).
2. Nous regardons de ( beau ) arbres.
3.  Cette chaise est ( lourd ).
4. Elle a des yeux ( vert).
5. Elles sont ( heureux).
E) Mettez a la forme interrogative ( avec l'inversion): | 5
1. Hélene regarde la Tour Eiffel.
2. La rue est étroite.
3. Le portier salue les voyageurs.
4. La petite fille dort dans la chambre.
5. Tu veux prendre la cle.



Iv.

F) Mettez au present :

G)

1.
2
3.
4

5.

Je ( mettre ) le couvert.
Tu ( appeler) le garcon.
Vous ( s’asseoir) a table.
Tu ( jeter) une pgche.

Nous ( voir ) des autos.

Mettez au passe compose :

1.
2
3.
4

5.
Remplacez les mots soulignés par le participe present :

1

2

3.
4.

5.

- J'ai de l'argent.

Tu vois un film.
Ils viennent chez nous.
Elles peuvent sortir.

Vous prenez un taxi.

J'apercois le maire gui met son echarpe tricolore.

Je vois les deux époux gui sortent de la mairie.

La foule regardait le cortége qui revenait a la ferme.

3814

Deux musiciens, guf jouaient de vieilles danses, marchaient devant les

maries.

Nous avons une bonne gui sait le hongrois.

Trouvez la question :

1.

2
3.
4
5

Elle a vingt ans.

J'habite a Chennai.

La rue est étroite.

Le brique: brille.

Il arrive a 8 heures.

10
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V.

VI.

Traduisez en frangais : _ | | 1_0
1. Luckily the cars have stopped.

2. They are outside because if_ is very hot.

3. They went by car .to the bank of a river.

4. People went on foot behind two musicians.

5. Helene and Pierre were laughing heartily.

Traduisez en anglais : | o ' 15

Depuis hier, 13 millions de Francais ont pris le rbute des vacances. Il y a
10 millions de Francais qui rentrent : 50% de la France est donc sur les routes 1.

'Alors, si vous partez ou si vous rentrez chez vous, nous avons un seul conseil a

VII.

vous donnner : soyez prudents.

Avant les grands départs, nous avons interrogé environ 800 conducteurs sur les
problémes de sécurité : 70% d'entre eux sont favorables a la ceinture de
sécurité : et 60% des personnes interrogés pensent qu'il faut limiter la vitesse
sur les routes. Pourtant, les Francais ne respectent pas les limitations de
vitesse : le week-end dernier, la police a arrété 5000 conducteurs pour exces

de vitesse.

( conducteur — driver ; vitesse — speed )

Joignez la Partie ‘A’ a la Partie ‘B’ pour faire une phrase compleéte : 10
A | | , B |

1. Sl faisait beau a) javais fini mon travail

2. | C'est dans une pharmacie b) Pierre ira ouvrir la porte

3. Quand mon ami est arrive ¢) eécrivant une lettre

4. Quand on aura sonne d) je sortirais

5. J'ai trouve ma sceur e) quellea d'abord conduit sa fille.
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Language — Part A — MALAYALAM — Paper II
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@620l .
( 8Q QIOSLNOBNE )
3. ©0M) ald0RINO alClEHIHDWOIBEMO QAT Bl ©93ME@Y @RW0aIdMB @2106]
2@ QOMOO alO@OMB @AM & F1600H §).
( 9200 2flamEBRTO G2IBHODOVIONS> )
4. allemoglay mey emoeil aidla).
( aNemoBlaY ag alBo ag®) QANEBSTNDI@ OIS ? )
5. IO B6MIes oy @)SeaB)e
( B@&0L.! @)alo AQPIONS: )
GOORIFROATIN 20O BRGNS . ' | 5x2=10
6. !MEMMOBo afMO@3 ang)nm“ ?
OV@0 af)NOM3 )oY ?
8. GRLM&0 aANOT )T ?
9. @PMAIGWOWO AfIMOT A ?
10. aQQilM agaMOm3 gDy ?
11. |weoowle alleaoiles oae ©B0aOBEME DOIOYE:.
12. &)EIal0M@E0, AIOPHENIL] - HDOO}TITONE:. -
13. ©@0MIMIM, &ail - agaldeloneaeyme:.
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sevollgd /| MATHEMATICS
( Tamil & English Versions )

Criyd : 2% e | [ Qurss wdiGuessTasr : 100
Time Allowed : 2% Hours ] R [ Maximum Marks : 100
&Py | Instructions : -

i) Qeuallerrssrer BTG LGS O&TaiTL gl euGleur® uGHllat (eTaid
Qer@ssuulBerer @hluyseiaiuyg el wellésalb.
This question paper consists of four Parts. Read the note carefully under
each Part before answering them.

ii) oD, aWHEID HBsHswTs Qndse Caucdn@n. aloLseaseilu 2 sall
Lg&ener ( Rough work ) el gsreflesr &pliLgdier Qsellamss smiLamb.
Write legibly. The rough work should be shown at the bottom of the pages

, of the answer-book. L1 4 \

iii) Gareuopller Sefésiu@d wL&os, WsGCsTaualud S L aememaamer
GG LwSTLRSSaD. 3
The logarithmic and trigonometric tables issued at the centre alone should

. be used.
ues - o / PART - A
(wéiQuess e : 15 ) / ( Marks : 15 )
&gy | Note : i) UU@SHSiew o _eftem uglen ot &l ellesTTés @ &Eh
oL weflssayb. '
This part contains fifteen questions. Answer all the
guestions.

i) paare alemalbeb s LG L.
ach question carries one mark.
iil) @uilflaler aiQear® elamalpen, Breve wrHn eloLseir
- efésiu’ Hefere. Seubdles  sflurer  deg Wl
Qur®sswre aloLdlaas Csiea Celsg, Sysoad GHGED
swdems ( Alphabet ) afleorm ecor GO G el gsmefld
STLD&EYD. |
Each question has four choices. Choose the correct or the
most appropriate one among them and write down the
alphabet indicating the response. 15x 1 =15 -

L. 96 &al0s QgrLit aflevglles t, =4n +5 aeafer Gurg alsdursn
In an A.P. if t;l =4n + 5, then the common difference is

a b5 b) 4n _ ey 4 d  5n.

[ Turn over
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2. 204 :;-, o S aep QUBHGS e fle QUESsE aldigh

The common ratio in the Geometric Progression 20, 4, % ............ , is

a) 4 b) 20 ¢ 5 d) %_
3. b r e 2 6fen gl s G&nmgﬁéﬂ Quordsll UFLILeTey

Total surface area of a solid hemisphere with radiusr, is

a) 2xr? b)  3ar’ c)  4nr? d) %mﬁ
4. (AUB)= _

a) » Aus b) (ANBY 0 ANB d A-B.
5. A={12345},B={1346}aefloB-A=

fA={12345},B={1346},thenB-A=

a) {25} b) {6} af {1451 @, 41,2}
6. 24a*36a’ Qe 15.0UT.eu

The G.C.D. of 24a?,36a’ is

a) 24a® b) 36a’ i) 6d’ d)- 12q4°.
7. z y_ -

xX-y x-y

a) 4 b) 0 o 1 @ AR

xX=y X -y

8. 2x+3ys<6@eo Souurs @ Yeie

A point which does not lie on the region 2x + 3y < 6 is

gl TR0 sl B (B=3) cRpat2e0 ) NGy (0.2

9. €y auLsgeonge 2 sien Gareoihisel
a) &b ' b) &wb Gae
c) G\&rﬁ:@srreo‘o‘rm. , d) epatsremb.
Angles in the same segment of a circle are
a) . equal : : b) unequal
c) right angle | ' d) acute. |



19

laks

12.

13.

14.

15.

3 .
au'L prhsrsdler e Cameand 65°, erafls gt aglifGamemid
One angle of a cyclic quadrilateral is 65°, its opposite angle is

a) 50° b) 40° - c) 130° d)

dx + 2y = 5 aetip CrrGsriger smiey

Slope of a line 4x + 2y=5is
1 1

. a)  -—= b)) = el =2 d)

2 2

- 3320

115°.

2.

X 255G Geaursad, ( 3, 5 ) a@mp yerell aflursan Qsdeud Cemiger

gestum(®

Equation of a line parallel to x axis and passing through a point ( 3, 5 ) is

a) y=5 h)  x=3 ¢} y=3 d)

sin 8 = v/3 cos 8 erefléd B-6i1 WAL
If sin 8 = /3 cos 0, then the value of 8 is
a) 30° b) 60° c) 90° d)
Crrie weaplle L alewssd srem Gadirh
The formula to find standard deviatiori by direct method is

2 2 2 \2
a) JZﬁ__J(Ei] b) .sz —f—f)

n n n n
2
x

o BE e

n n n

2. nflurer Blapsdllea flepssea

The probability of sure event is

a) 1 b}y 0O e =1 d)

x =5

. 45°.
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16.

17

18.

190

20.

21.

22,

23.

‘u@d) -2 / PART-B
( QeSS : 20 ) / ( Marks : 20 )

ey i Note: 1) @uuedlie OGer@asiul@eer udoabg aloméseio
gCseb usg alaTébs@rs® Ll Ab alloLwellssab.
- Answer any ten from the fifteen questions.
i) eleLser QupliLlL ayfipepssr Qar@E&EsUUL GeolaBib.
Show all the steps.

iil) eaiQeur® allamalben @rean® WL s

Each question carries two marks. 10 x 2 =20
21; 42; 683, consis D &l B QarLfé 441 aTsso@TLTIE 2 DI ?
Which term of the A.P. 21, 42, 63, .......... is 441 ?
36, 12, 4, .......... D pigaled QuUESSS CarLfledr sapss srems. -

Find the sum to infinity of the series 36, 12, 4, .......... :

4 Qe.8. e ugupsier @@ smblér Sqiuriy 9t Qsl.? aafid s aumerugly
BHITGT0T 6.

The base area of a cone is 9% cm? and its height is 4 em. Find its curved surface

area.

AN(BUC)@er GeuestuL b euenys.

Draw Venn diagram for AN (BUC ).

A={11,15},B={1517,19}C= {11,19,20} eafl® A - ( B U C )
SITE0015 . :

fA={11,15}B = {15 17,19}, C = {11,19,20},find A-(BUC).

3x® - 2x* + mx - 208 (x - 2) Syeng BHOGD uGSHSTEH M-651 WL HITEHTS .
Find the value of m if (x - 2 ) divides 3x° - 2x* + mx - 20 without remainder.

X2 = e 6

G e R
o ene
2
Simplify : = —x -6

x> + 5x + 6

cuegup : L.P.P.-&1 06 2 b Siay.
Define optimal solutions of an L.P.P.



24.

25.

26.

27.

28.

29.

30.

5 3320
13 Qe f. syppsien aulL sflauet, 10 Q815 Berapeton preder ault. owwdHlmhs:
arclicueney gTTSEG QBSED aar s AUl &aaD 2
How far away is a chbrd of length 10 cm from the centre of a cifqle'of radius
13 cm ? |
Breoeel AB-yb CD-yb eulLgdleer P-Allé -Qeaulns oereardleamper. AP = 8,
AB = 17 wppid CP = 12 ereflés CD-lledr iy srevois.
Chords AB and CD cut at P inside a circle. f AP = 8, AB =17 and CP = 12; then
find CD. "

(8 4)(1, 3)whod (3, -1 ) Hflu 2 éfamers QaraoiL Ww&Caramggdle
HH&ECHTL{H eowwbd &resrs.

Find the centroid of the triangle whose vertices are (8,4 )(1,3 jand (3, -1).
smiey -3 gead (-2, 3 ) e yereflllar aiflurseayd @&&é]s&rm CrirGami g 6T
eTUT (R STEToTSH. '

Find the equation of a straight line whose slope is -3 and which passes through
the point (-2, 3 ).

wEGsraraluéd oL aimenraow LWETURSS sin 44° 36  + tan 49° 40-ér oy
SITCO018 .

Using trigonometric tables, find the value of sin 44° 36 + tan 49° 40

o® Osmfldér wrpurlGé Osw 80% whmid SipeT aml@ sgmefl 20 aefle

Qgm_Met Sl L alevssid sreoss.

The co-efficient of variation of a series is 80 % and its mean is 20. Find the

standard deviation of the series.
Q® Eﬁmmmﬁeﬁ 8y Crprsdler s u@d Curws sflures gEszoe LLED

HeoL LUGHeTET BHDS86) ereset

Two coins are tossed simultaneously. What is the probability of gétting exactly

one head ?

[ Turn over
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31.

32.

u@d) - @) / PART - C
(LOIQUGTSeT : 45 ) / ( Marks : 45 )

@siiy / Note : i)  @Quuedilées 10 afleméser 2 srener. e mfﬂaﬂrréﬁgj.b
. @\® wrhp elleTTéeeT o_efeTen.
This part contains 10 questions each with two alternatives.

ii) @aiQleur® olomaloud 2ster @B wTH eleMTéseten
gamloas CsrbOs®ss, Cursshd @dLg alomssanss

allew_weNés Ceuesor(Bibd.
Choose either of the alternatives in each question and

answer any nine questions.

iii) Coeveuuresr @Lusefles Ozefleurenr  LgHer,  ULEG6
Qar@sstuL. Geuesor@Hib.
Steps and diagrams should be shown wherever necessary

iv) @aiGare ellemalbeb mbg HLCILTT ST .

Each question carries five marks. 89 x5=45
200-5@b 400-56@b QLCu 13-8i6 ABURD SEwISE aEmeenaT sl LU
&HITEO0TE . :
Find the sum of all numbers between 200 and 400 divisible by 13.

Syevevgs / OR

usskser weonpGu 1 Qs.f., 2 Qel., 3 Qe ... .. 15 Qgib., yeteysei
anmg 15 searagirhseiler sarsarasefiar spse wrg 2
Find the sum of .the volumes of 15 cubes, whose sides are 1 cm, 2‘ cm,

3 cm, v 16 cm respectively.

S® wrédors eullureag 2 Goamldr @GUDWD HoFsGaTerd DB
Gurestn aug ellgyieiieng). BT QTes 2 wyd 19 Q& 1. 2 Geendar allLd 7 Qs .8,
areney rsHeorsd GUILET &eoroera) HIeTs.
A capsule is in the form of a cylinder with hemispherical ends. The total height of
the capsule is 19 cm and the diameter of the cylinder is 7 cm: Find the volume of
the capsule.

<yevevg [ OR
6 2 Goamller Suqluss b 12 Gs.f., 2.ugd 16 Q& if5. ST 2. HBHS 8 s
SieTays @pster Cameatisamas QeligTe, aiGars Carersdlesr b eeer 7
A solid right circular cylinder has base radius 12 cm and height 16 cm. It is
melte_d. and made into 8 spherical balls of equal size. Calculate the radius of each

spherical ball.



33.

34.

35.

7 3320
QeusuLfiseants LLSTLESS A~ (BN C)=(A-B) U (A-C )eaar Higes.
Prove, A~ (BN C)=(A-B)U(A-C)by using Venn diagrams.

' 2evevgs [ OR

200 Guit aurpd ® Gs@maler 120 Cuit oy mdle @euuglgg,rreﬁaaémmqm, 80 Guit sHp
Qs ssmeismaenyb, 30 Gui CsabiE @;m@ggneﬁé)mmmm U &S DTiser. 60 Gurt
2adlowpd 8w 20 Cut sflwd Csamen; 15 Gui Ceateh o kdawb; 9 Cuit
gear Oeifls sraisoanyd ugsApTiseT. alld aEsCoars Goldssramanyib
surrﬂésa:rrg,@r?ma‘ﬂdsr 6T GO0 G0N 668 eTedTeT 7
There are 200 persons living in a street. Of "chem.' 120 read En‘ghsh newspapers,

80 read Tamil and 30 read Telugu newspapers. If 60 read both English and

-Tamil; 20 read both Tamil and Telugu; 15 read Telugu and English newspapers;

and 9 read all the newspapers, find how many do not read any of the three

NEWSpPAapeErs.

s :x+y=-3, y+z=1, z+x=-8

Solve : x+y=-3, y+z=1, z+x=;-8
<evevg/ / OR

sTyeNiL@S8s : 2x° + x% - 5x + 2

Factorise : 2x° + x> - 5x + 2

4x* +12x° + x* + ax + b aeUg GG PITESD aalé a, b-fer AL HTETs.

If4x* +12x>* + x> + ax + b is a perfect square; find the values of a and b.
yevevg | OR

X +2(@+b)x+ 2 (@® + B?) = 0 aeruzar Womss Quiwde awé ST Es.

(a=b aené Qameis )

Show that the roots of the equation x* + 2 (a + b)x + 2 (a® + b*) = 0 are not

real ( given thata = b ).
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36. Ueraeb Crflu SFwaETUTHS @SS aueLLD epevid &iTey HERTD SIS,
- x—-2y=-8
3x+y=<18
xz0, y=z=0erep &L@ﬂun@&aﬁe&ruq BTG5 .
(UL sreenl LuGTLURESS Caoanlaame )
Draw the graph of the following system of linear inequations and find the
- solution set :
x-2y=z-8
3x+y=18
xz0, y=0.

( Graph sheet need not be used )

<yevevg) [ OR
96 S sdle e L aean WeTaupomy
Qewé 1-2|1-6|2-3)|2-4 3—514—5 6-7 | 5-8|7-8
&':ITG\)- i 7 6 14 5 11 7 11 4 18
(Briseid ) - .

LY LLD eThal SitasEshs LT e G eniLids BTETOIE .

' A project has the following time schedule :

| Activity 1-2|1-6|2-3|2-4|3-5(4-5|6-7|5-8|7-8

Dura4tion in -
A Rl 14 5 1159 7 11 4 18

days

Draw the network diagram and find the critical path.

37. Ysragev Cspnseos ewd Hesll.
State and prove Pythagoras theorem.
<evevg / OR
Qeoanarsdar aawr ussHseT all oss CErhslps ald Geamsyb
gmilegyid erer Hlepllssayb. |
If all the sides of parallelogram touch a circle, show that the parallelogram is a

rhombus.



38.

39.

40.

: 9 3320
(-3.-9), (-1,6), (3, 9) wdod ( 5, -8 ) gydlucipern 2 éflaeresd Qamam
BTHSISSET LFLLeTe| STe5s . -

Find the area of the quadrilateral whose vertices are (-3.-9),(-1,6),(3,9)

and (5, -8 ). i
2eévevg / OR

2x - 3y + 4 =0, 9x + 5y = 19 wHoEd 2x — 7y + 12'= 0 g duw (Br,r‘;ri’@&;rr@éeﬁ

6 Yerefldler spgléslemen aar plepll. Goaid sbgl&eD Lsieflaow srers.

. Show that the straight lines 2x -3y + 4=0,9x+ 5y =19and 2x-7y +12=0

are concurrent. Find the point of concurrency also.

uss jeme) 10 Qe .1f. Qe 36 UssRBEEOLL QB RUWHS L Carasdle
2 eTeul L. Y THOSSH HTE0s. . .
Find the radius of the incircle of a regular polygon of 36 sides each of length
10 ecm. -

; : <evevg/ /| OR
45 8. 2 wgepsien uemesd sl s 2 sNNBHa gmat sl gdar Cr
UEEEHS Sowhs @etT® eletbuy uemssmer 30°, 45° @D&s Caramsdle
uri&SomT aefler aflerburl LevessEhée @)L Cuujeter @ngem-gé. SHITETOTS.
A man standing on the top of a 45 m high multistoreyed building is lookihg at
two advertising boards on the same side whose angles of depression are 30° and

45°, What is the distance between the two boards ?

ohs sUTe ouseiear aeoLsear weplu 11, 14, 15, 17, 18 ( &. & ) Eb.
@eupdlesr L alesasosyd wHpd alass arés srrseflouyd saTsdds.
(9Cs@ib GG WoDpow LLSTLUGSSIS ) :
There are five post bags which are weighed as 11, 14, 15, 17, 18 ( in kgs ).
Calculate the standard deviation and variance ( use any one method ).

2yevevg / OR
@’ useLser alsuu@Ed Curg 3 @& LLEEG WPBD L e et &5
QUBHEUSDHEHTET 260608 @a’:- amseflet s 7 aar SloLlughHerat HeDesey
BT TN 5. ' .
What is the probability of getting a multiple of 3 on the face of the first die or the

total of the numbers on the faces as 7, when two dice are thrown ?

[ Turn over
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41.

42.

- u@&l -F / PART-D _
(wfuGuTset : 20 ) / ( Marks : 20 )

&Py | Note : 1) Qluedde @o aleomsae 2 srerer. geaibeurs aflermalaid
@\® wrbn elleTTése 2 6feres. :
This part contains two questions, each with two
alternatives.

i) gaiQare alemaleun s wrbg elemaioas Csitey Clelig,
BB amssEpseh el weflssab. -
Answer both the questions choosing either of the
alternatives. : &

iil) eeiCleur® allemmeliped 10 wHICLET s 6.
Each question carries ten marks. 2x10=20

AB = 6 Q&.8., BC = 8 Q@& .15, AC = 85 @5.5., bpoid AD = 5 Q& 1. SeTaysEpeTan
ABCD eret1p G).IIL[_[_F)IT@&;#I:D ELEDTWED.
Construct a cyclic quadrilateral ABCD with AB = 6 cm, BC = 8 cm, AC = 85 cm
and AD ;5 cm.

| 2/evevg / OR
Silusshd BC = 4 Q. m L A = 60° 2 &808EEs BC-5& auopuiu@b
@5@&@5&Lqe&r pend 3 Glg .S erent BBESDL, @&G&n@& ABC a7 6.
Cbnst:mcf a triahgle ABC in which base BC = 4 cm, m £ A = 60° and the. altitude

through the vertex to BC is equal to 3 cm.

P Y= x* - x ;-.8-661 upULD elorhg, 2B aeb x2 - 2x - 15 = 0 e

SLETUTL LS STHe

Draw  the y graph of y = x> - x -8 and hence solve the equation

x? -2x-15 = 0.

<yeveugy / OR



11

a?@dmrr@ﬁ: SLL eIt @shs euemyuLID uenys :

3320

24, 6501 (H& el 657 1 - 5 .
&1 &oon G| &5 60 55 e e o e o
Quisdlysdlen 1,000 500 ~ 250 125 100

iy ( umde )

5-6ugl g Quibdlrsdler o $Css wHliLSE sirchs.

For the following table, draw a suitable graph and estimate ‘the value of the

machine in the fifth year.

Year

1st

2nd

4th

8th

10th

Value of the

machine ( in Rs. )

1,000

500

250

125

100
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